93

S T 27 R 4k ol AYUA

@® 0.37 @ 0.327 (@)0.372 @ 0.237 ® 0.732

93  93x4 372
250 ~250x4 1000 0372




AGU7H?
2.5625

1 1121 5625

L ) %5
- 1 9 @ 170000 ® 210000

2— 9L
< 16 @ 16
9.5625 — 20020 5625 + 625 9

10000 ~ 210000=625 ~ 16




Lol 1Tm el 282 2097 Ho] Lol Feix ek
AbgFel Al @ m#) o] Fofof sH=x] 442 LAl 2.

=

17 17x5 85
20 ~20x5 100~ (m)

ot



tgo

o

ot

_@_

5 oAl Fo] vpro] F2al

) A

o7} 4m?Q

Z:_]

4.

m QA 22 YERfAL L.

=l

0.8m

-

ul

4m9]




T 420 3715 "|@ste] Ol >, <,
3
L 003

> £

> Heth: >

3 3
- = . OE_E_;I:._ .
1 =075 | 7> 03




24
28

15
20

@

3
1

©)

25
100

ol
86

15
20

75
100




(790.45
(Lh0.375

~—  —  ~— ~— ~—

~—~ o~ o~ o~

~— ~—  ~— ~— ~

~~~ o~ o~ o~

N e N

o~ o~ o~ o~ o~

— ~—  ~— ~—

10

=

T S 3 3

I [l (= S
=

o IS 1

e ) <

SHENNII I

[Vl el

I xix TR

55255544

NS X X |X

Y __ X015

oMoM3_59222

I Il Il Il
0 O |

3_86_19_2 2_2




Br71 1009 B42 Ho|HH

75
D 100

60
D 100

20
® 100

80
D 100

5 18_070 olBZ 7} & 4 By} 8791 0.87 YUt




gkl ol ' HA 5719 FAE 2ot Heksynh. 7 71

. 1
- ( )1—
D 1.199g @ 1ge Dige

@ 1.33¢ © 1.26g

1- =1.125
@19

1
@1§ =1.333---




10. o2 AAtstA L.
51.5+ 515+ 515+ 51.5 + 51.5

> E.

> ®et: 2575

51.5 4+ 51.5 4+ 51.5 + 51.5 + 51.5 = 51.5 X 5 = 257.5




11. g % A4 237} vt s 28 2e o= AdY7?

@D 5.93 x 1000 = 5930 @ 4.5 x 10000 = 45000
@70.4 x 0.001 = 0.704 @ 150%0.01 = 1.5
® 32.4x0.1=3.24

B

@O &5Ho] Q2& 0 2 A ] SAAA
5930 o] Elong % 5tod 2= 4= 5.93 Yt}

@ 243lo] REZ O 2 U] A2 HFAHAA
45000 0] 2.2 —’S—ﬁ}% T 459U
® aZHo| gx o= A z}a #4214 0.7041 7}
o ng Jqotei e S 704 dYch

@ 2730l 9FKo2 & Z}ﬂ =AY AolEr
FHote 4+ 150 4yt
® &5Ho] AZK o= 2 A A 3.24 7}

Helenz HolozE £E 32444t
o

watd g @MYt




@ 0.068x[ |=68
@[ Jx4.05 = 105

® [ ]x0.2887 = 28.87

~&B

@ [ ]x0.259 =259
@ 2.85x| |=285

S7te] Wab} QLT 5o

Zhzte] [(Jgte] ol 52

webq A @AY

102] vjZ7} [ Jgtoll Sojzt &

4

2t 2 100, 100, 10, 100, 100




13.

3.2x0.17%x5.2

\VARR 4
N

0
o

.I

n

. 2.8288

3.2x0.17x 5.2 =0.544 X 5.2 = 2.8288




14.

@ 25t A 5 @ &4 % 2 4
® &g A A 5 0) BNt E S
® &4 oA 2 4

=522
3.85x 6.274= A= Y] 2] =dY.

3.85 X 6.274=24.15490 A7 o} WEZz}2] 2] & AJ=ko]

7




15. A 3kg o] ghel 3960 Yolakar shych. o] 7zt 2.23 kg © Zh2 dut
7} Bl=A] vheR5te] Ao z42|7hA] A L.

= F 9

> FE 20449

(B2 1kg2] )= 3960 + 3 = 1320(¥)
(B2} 2.23kg 9] gh)= 1320 x 2.23 = 2943.6
— 2944(¢)




16. 827 x 512 = 423424 = 0|83}, £A-H S AE A2 ol A
7k
@ 0.827 x 512 = 423.424 @ 8270 x 0.512 = 4234.24
@ 0.827 x 512 = 4.23424 @ 827X 5.12 = 4234.24

® 827 x0.0512 = 42.3424

1A

B

827 x 512 = 423424

827 x 512 % L = 423424 x L
1000 1000

0.824 x 512 = 423.424




17. AGATL AL £AR 755 249,

@ 15x06x%x3 O 58x0.6x5
© 0.7x0.05%x4 ® 4.3x08x3
@ 0.33x72x%x6 ® 58%x2.7x%x3

it

i

o o0d oX 0%
(LI (LAY TN 1}

0
i

v Vv VvV Vv Vv VvvyvVvvVvvVvyVvyy
X
i

®©® © @ @ O @

B

@ 15%0.6x3=09x3=27
©58%0.6x5=348%x5=174

© 0.7x0.05%x 4 =0.035 x4 = 0.14

@ 4.3x0.8% 3 = 3.44 x 3 = 10.32

@ 0.33 X 7.2 X 6 = 2.376 x 6 = 14.256

@ 5.8%2.7x 3 = 15.66 x 3 = 46.98

kA ALt At A2 MY E 7128 AH
©, 9, ©, @, 0 eUY




18. oJH 49 0.62 & HolloF & A& &0t 6202 HoFATEY 44640
o] EAFUt. HI=A] AlA dupelz] £5HA Q.

2
roll
N
[‘lO il

=
=

>
[> =EeH: 4464

oA []
[ ]x 620 = 44640
[ ]= 44640+ 620

[ ]=72
Bt 2] Al4tst7]
72X 0.62 = 44.64




19. o

>
kU rlo
T 9
o
=
>
lo

W Aol ojsf vdE AUk [ okl e

8

A
i
il
b
e
f
&
=)

=0.1,

3 x4 12
= = — = .12
25x4 100 02

3x5 15
= 20x5 100 1>

| &l 3]

(S E I )
[«]

=0.2°0]B& (.02¢} 0.03°] ¥iZo} el @S

kA 0.2 4 0.02 = 0.22 Y4t




20.

Fojzl £0]9] 0.6 THF t}A] Fo] 2 2& Fo] .
40m Eo]ol|A Hojm e Mg o ol E& wjzta] Fo]
AdEe d m x| F5HA L.

> =

=

> & 116.8m

404+ 40x% 0.6 x2+40x 0.6 x 0.6 x 2 = 116.8(m)




